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Q.1

Ans

1. 

2. 

3. 

4. 

Question ID : 65497842183

Status : Answered

Chosen Option : 1



Q.2 उस अƗर-समूह का चयन करŐ जो नीचे दी गई Şंखला मŐ Ůʲिच˥ (?) के ̾थान पर आ सकता है।

YZT, WXR, UVP, ?

Ans 1. STN

2. TSM

3. STM

4. TSO

Question ID : 65497843481

Status : Answered

Chosen Option : 1

Q.3 िदए गए िवकʙों मŐ से वह संƥा चुिनए जो िनɻिलİखत Şंखला मŐ Ůʲिच˥ (?) के ̾थान पर आ सकती है
।

61, 70, 95, ?, 225, 346

Ans 1. 132

2. 182

3. 144

4. 136

Question ID : 65497843687

Status : Not Answered

Chosen Option : --

Q.4 वह िवकʙ चुनŐ जो तीसरी संƥा से उसी Ůकार संबंिधत है िजस Ůकार दूसरी संƥा, पहली संƥा से
संबंिधत है।

68 : 321 :: 525 : ?

Ans 1. 792

2. 681

3. 778

4. 852

Question ID : 65497843285

Status : Not Answered

Chosen Option : --

Q.5 एक िनिʮत कूट भाषा मŐ, 'take this vaccine' को '892' िलखा जाता है, 'vaccine protects us' को
'263' और 'take us safe' को '593' िलखा जाता है। उसी कूट भाषा मŐ 'safe vaccine' कोƐा िलखा
जाएगा?

Ans 1. 85

2. 23

3. 25

4. 26

Question ID : 65497843682

Status : Answered

Chosen Option : 3



Q.6

Ans

1. 

2. 

3. 

4. 

Question ID : 65497843697

Status : Answered

Chosen Option : 4

Q.7 िदए गए िवकʙों मŐ से उस अƗर-समूह का चयन करŐ जो िनɻ Şंखला मŐ Ůʲिच˥ (?) के ̾थान पर आ
सकता है।

LGG, PJL, KMO, OPT, LSG, ?

Ans 1. PVL

2. OVK

3. PUK

4. NUL

Question ID : 65497842464

Status : Answered

Chosen Option : 3



Q.8 िदए गए कथनो ंऔर िनʺषŘ को ȯानपूवŊक पढ़Ő। यह मानते Šए िक कथनो ं मŐ दी गई जानकारी सȑ है,
भले ही वह सामा̢य ŝप से ǒात तȚों से िभɄ Ůतीत होती हो, तय करŐ िक िदए गए िनʺषŘ मŐ से कौन
से िन̽कषŊ कथनो ं का तािकŊ क ŝप से अनुसरण करते हœ।

कथन:
सभी बीन बैग, कुिसŊयाँ हœ।
सभी कुिसŊयाँ, काउच हœ।
सभी काउच, सोफे हœ।

िनʺषŊ:
I. कुछ सोफे, काउच हœ।
II. कुछ काउच, बीन बैग हœ।
III. सभी काउच, बीन बैग हœ।

Ans 1. केवल िनʺषŊ I और II अनुसरण करते हœ।

2. केवल िनʺषŊ II और III अनुसरण करते हœ।

3. केवल िनʺषŊ II अनुसरण करता है।

4. िनʺषŊ I, II और III सभी अनुसरण करते हœ।

Question ID : 65497842474

Status : Answered

Chosen Option : 1



Q.9

Ans

1. 

2. 

3. 

4. 

Question ID : 65497842690

Status : Answered

Chosen Option : 2

Q.10 िकसी िनिʮत कूट भाषा मŐ, 'DURABLES' को 'BSVETFMC' िलखा जाता है। उसी कूट भाषा मŐ
'FEASIBLE' कोƐा िलखा जाएगा?

Ans 1. TBGHFMDJ

2. TBFGFMCJ

3. TBFFGMJC

4. TDFGFNCJ

Question ID : 65497843478

Status : Answered

Chosen Option : 2



Q.11

Ans 1. 

2. 

3. 

4. 

Question ID : 65497843290

Status : Not Answered

Chosen Option : --

Q.12 गिणतीय िच˥ो ं के उस सही संयोजन का चयन करŐ िजसे िनɻ समीकरण मŐ * िच˥ो ं के ̾थान पर Ţिमक
ŝप से रखे जाने पर समीकरण संतुिलत हो जाएगा।

55 * 126 * 14 * 520 * 30 * 5

Ans 1. +, ÷, –, =, ×

2. =, –, +, ÷, ×

3. ×, ÷, =, –, +

4. =, ×, +, ÷, –

Question ID : 65497842481

Status : Answered

Chosen Option : 3

Q.13 एक पįरवार मŐ छः सद˟ P, Q, R, S, T और U हœ। T, P के पित का भाई है। U, T की मां है। Q, S और
P की पुũी है और वह R की पोती है। R का T से Ɛा संबंध है?

Ans 1. िपता

2. बेटा

3. चाचा

4. भाई

Question ID : 65497842169

Status : Answered

Chosen Option : 1

Q.14 अवनीश ने एक परीƗा मŐ 78% अंक Ůाɑ िकए और किपल ने उसी परीƗा मŐ 64% अंक Ůाɑ िकए।
यिद किपलऔर अवनीश Ȫारा Ůाɑ अंको ं का योग 923 है, तो किपल Ȫारा परीƗा मŐ Ůाɑ िकए गए अंक
ǒात कीिजए।

Ans 1. 600

2. 416

3. 458

4. 507

Question ID : 65497842680

Status : Answered

Chosen Option : 2



Q.15 उस सही िवकʙ का चयन करŐ जो नीचे िदए गए शɨों को उसी Ţम मŐ दशाŊता है िजस Ţम मŐ वे अंŤेजी
शɨकोश मŐ मौजूद होते हœ।

1. Manuscript
2. Minor
3. Melody
4. Malicious
5. Memory

Ans 1.  4, 1, 5, 2, 3

2.  1, 3, 4, 5, 2

3.  4, 1, 3, 5, 2

4.  1, 4, 3, 5, 2

Question ID : 65497844283

Status : Answered

Chosen Option : 3

Q.16 िदए गए चार अƗर-समूहो ं मŐ से तीन िकसी न िकसी Ůकार से समान हœ और एक असंगत है। उस असंगत
अƗर-समूह का चयन करŐ।

Ans 1. PKRI

2. SHOL

3. WEKP

4. FUBY

Question ID : 65497843678

Status : Answered

Chosen Option : 3

Q.17 िन̱नांिकत पैटनŊ का ȯानपूवŊक अȯयन करŐ और िदए गए िवकʙों मŐ से उस संƥा का चयन करŐ जो
इसमŐ Ůʲवाचक िच˥ (?) के ̾थान पर आ सकती है।

24 36 32
6 3 ?
12 2 24
12 54 24

Ans 1. 18

2. 15

3. 10

4. 29

Question ID : 65497843691

Status : Answered

Chosen Option : 1



Q.18 िनɻिलİखत समीकरण को संतुिलत करने के िलए िकन दो िच˥ो ं को आपस मŐ बदलने की आवʴकता
है?

9 × 98 ÷ 14 + 3 - 19 = 11

Ans 1. - और +

2. ÷ और −

3. + और ×

4. - और ×

Question ID : 65497842177

Status : Answered

Chosen Option : 3

Q.19 उस िवकʙका चयन करŐ जो तीसरे अƗर-समूह से उसी Ůकार संबंिधत है िजस Ůकार दूसरा अƗर-
समूह पहले अƗर समूह से संबंिधत है।

JLT : QPG :: SGB : ?

Ans 1. FKX

2. GLB

3. KJX

4. HKY

Question ID : 65497842669

Status : Answered

Chosen Option : 4



Q.20

Ans

1. 

2. 

3. 

4. 

Question ID : 65497842180

Status : Answered

Chosen Option : 2



Q.21

Ans

1. 

2. 

3. 

4. 

Question ID : 65497843295

Status : Answered

Chosen Option : 1

Q.22 छः दोˑ डेिवड, भानु, िमंटो, िŢटा, जॉन और िनसान, एक गोल घेरे मŐ इसके कŐ ū की ओर अपनी पीठ
करके बैठे हœ। डेिवड और िमंटो Ţमशः भानु के ठीक बाएं और दाएं बगल मŐ बैठे हœ। जॉन, डेिवड के
ठीक बाएं बगल मŐ नही ं बैठा है। िनसान, भानु के दाएं तीसरे ̾थान पर बैठा है। भानु के बाएं दूसरे ̾थान
पर कौन बैठा है?

Ans 1. िमंटो

2. िनसान

3. जॉन

4. िŢटा

Question ID : 65497842170

Status : Answered

Chosen Option : 4

Q.23

Ans 1. 

2. 

3. 

4. 

Question ID : 65497842484

Status : Not Answered

Chosen Option : --



Q.24 एक िनिʮत कूट भाषा मŐ ‘SALT’ को ‘16’ के ŝप मŐ कूटबȠ िकया गया है और ‘PICKLE’ को ‘36’ के
ŝप मŐ कूटबȠ िकया गया है। उसी कूट भाषा मŐ ‘PRESERVATIVE’ को िकस ŝप मŐ कूटबȠ िकया
जाएगा?

Ans 1. 72

2. 144

3. 96

4. 88

Question ID : 65497843277

Status : Not Answered

Chosen Option : --

Q.25 िदए गए िवकʙों मŐ से वह संƥा चुिनए जो िनɻिलİखत ŵेणी मŐ Ůʲवाचक िच˥ (?) के ̾थान पर आ
सकती है।

352, 288, 252, 236, ?

Ans 1. 208

2. 232

3. 220

4. 192

Question ID : 65497842476

Status : Answered

Chosen Option : 2

Q.1 भारत मŐ दहेज िनषेध अिधिनयम िनɻिलİखत मŐ से िकस वषŊ मŐ पाįरत िकया गया था?
Ans 1.  1967

2.  1952

3.  1959

4.  1961

Question ID : 65497843723

Status : Not Answered

Chosen Option : --

Q.2 2020 यूएस ओपन मेɌ चœͤिपयनिशप के िवजेता डोिमिनक िथएम (Dominic Thiem) िकस देश का
Ůितिनिधȕ करते हœ?

Ans 1. डेनमाकŊ

2. जमŊनी

3. अमेįरका

4. ऑİ Ōː या

Question ID : 65497842715

Status : Answered

Chosen Option : 1

Section : General Awareness



Q.3 िनɻिलİखत मŐ से िकस नदी को ʩथ भी कहा जाता है?

Ans 1. तवी

2. ʴोक

3. जांˋर

4. झेलम

Question ID : 65497842197

Status : Not Answered

Chosen Option : --

Q.4 भाजा गुफाएं ______ मŐ İ̾थत हœ।
Ans 1. महारा Ō̓

2. िबहार

3. राज̾थान

4. उȅर Ůदेश

Question ID : 65497842490

Status : Not Answered

Chosen Option : --

Q.5 जनवरी 2021 मŐ िवȅ मंũालय की घोषणा के अनुसार, िसतंबर 2020 के अंत मŐ सकल घरेलू उȋाद
(GDP) अनुपात के ŝप मŐ िवदेशी कजŊ ______ था।

Ans 1. 18.2%

2. 21.6%

3. 16.9%

4. 12.4%

Question ID : 65497842190

Status : Not Answered

Chosen Option : --

Q.6 सोना और तांबा, ______ और बœगनी Ůकाश को अवशोिषत करते हœ, पीले Ůकाश को छोड़ते हœ।
Ans 1. लाल

2. नारंगी

3. नीले

4. हरे

Question ID : 65497842494

Status : Not Answered

Chosen Option : --



Q.7 आिथŊक मामलो ं की मंिũमंडलीय सिमित (CCEA) ने ______ आयोग की िसफाįरशो ं के अनुŝप
िवपणन सीजन 2021-22 के िलए सभी अिनवायŊ रबी फसलों के िलए Ɋूनतम समथŊन मूʞ (MSP) मŐ
वृİȠ को मंजूरी दी है।

Ans 1. ˢामीनाथन

2. नानावटी

3. मुखजŎ

4. कोठारी

Question ID : 65497842694

Status : Not Answered

Chosen Option : --

Q.8 यूįरया आमतौर पर इˑेमाल िकया जाने वाला नाइटŌ ोजन आधाįरत उवŊरक है, जो अमोिनया और
______ के बीच रासायिनक अिभिŢया Ȫारा तैयार िकया जाता है।

Ans 1. हाइडŌ ोजन

2. ऑƛीजन

3. काबŊन डाइऑƛाइड

4. सʚर

Question ID : 65497842699

Status : Answered

Chosen Option : 1

Q.9 ______ संिवधान संशोधन अिधिनयम ने पंचायती राज सं̾थाओं को संवैधािनक दजाŊ िदया था।
Ans 1. 73वŐ

2. 54वŐ

3. 68वŐ

4. 82वŐ

Question ID : 65497842207

Status : Answered

Chosen Option : 1

Q.10 िनɻ मŐ से कौन सी दूध देने वाली गाय की एक देशी नˠ है?

Ans 1. कɄी

2. लाल िसंधी

3. िचɔीपराई

4. कोɾाई

Question ID : 65497842701

Status : Answered

Chosen Option : 2



Q.11 भारत सरकार ने ______ तक 'टीका उȖव' नामक एक टीकाकरण कायŊŢम आयोिजत िकया।
Ans 1. 11 से 14 अŮैल 2021

2. 1 से 4 अŮैल 2021

3. 15 से 18 अŮैल 2021

4. 5 से 9 अŮैल 2021

Question ID : 65497842203

Status : Answered

Chosen Option : 1

Q.12 संयुƅ रा Ō̓ के सतत िवकास लƙ 6 का उȞेʴ ̋या है?

Ans 1. जलवायु पįरवतŊन और उसके Ůभाव से िनपटने के िलए तǽाल कारŊवाई करना

2. सभी जगहों पर िकसी भी ŝप मŐ गरीबी का उɉूलन

3. सभी के िलए पानी और ˢǅता की उपलɩता और िटकाऊ जल Ůबंधन सुिनिʮत करना

4. ˢ̾थ जीवन सुिनिʮत करना और हर उŲ मŐ सभी के िलए आरो̑यता को बढ़ावा देना

Question ID : 65497842195

Status : Not Answered

Chosen Option : --

Q.13 ितयी पवŊत (Mount Tiyi) आपको भारत के िकस राǛ मŐ िमलेगा?
Ans 1. ओिडशा

2. अŜणाचल Ůदेश

3. नागालœड

4. िहमाचल Ůदेश

Question ID : 65497842501

Status : Answered

Chosen Option : 3

Q.14 िनɻिलİखत मŐ से िकस खेल को एक Ůित˙धŎ खेल के ŝप मŐ िवकिसत करने के िलए खेलो इंिडया यूथ
गेʈ 2021 मŐ शािमल िकया गया था?

Ans 1. योगासन

2. मलखंब

3. धोपखेल

4. मुकना

Question ID : 65497842512

Status : Answered

Chosen Option : 1

Q.15 राजा लिलतािदȑ मुƅापीड ने ______ पर शासन िकया था।
Ans 1. िसİſम

2. केरल

3. गुजरात

4. कʳीर

Question ID : 65497842504

Status : Not Answered

Chosen Option : --



Q.16 अŮैल 2021 तक की İ̾थित के अनुसार, िनɻिलİखत मŐ से कौन भारत के सबसे लंबे समय तक सेवा देने
वाले Ůधान मंũी हœ?

Ans 1. जवाहर लाल नेहŝ

2. इंिदरा गांधी

3. आईके गुजराल

4. नरŐū मोदी

Question ID : 65497843315

Status : Answered

Chosen Option : 1

Q.17 झारखंड मŐ, खेती का आिदम ŝप ____________ कहलाता है।
Ans 1. कुŜवा

2. İखल

3. वलेरे

4. कुमारी

Question ID : 65497843714

Status : Not Answered

Chosen Option : --

Q.18 िनɻिलİखत मŐ से िकस वषŊ मŐ सिवनय अवǒा आंदोलन पूरी तरह समाɑ हो गया था?
Ans 1. 1943

2. 1923

3. 1934

4. 1917

Question ID : 65497843313

Status : Answered

Chosen Option : 3

Q.19 Ɋायालयो ं की अवमानना अिधिनयम, को Ɋायालयो ं की अवमानना के िलए दंिडत करने और उससे
संबंिधत उनकी ŮिŢया को िविनयिमत करने के िलए कुछ अदालतो ं की शİƅयों को पįरभािषत और
सीिमत करने के िलए पाįरत िकया गया था। इस अिधिनयम को िनɻिलİखत मŐ से िकस वषŊ मŐ पाįरत
िकया गया था?

Ans 1.  1982

2.  1971

3.  1975

4.  1969

Question ID : 65497843317

Status : Not Answered

Chosen Option : --



Q.20 एक सीगं वाले बड़े गœडे को वɊजीव संरƗण अिधिनयम, 1972 की अनुसूची ______ के तहत सूचीबȠ
िकया गया है।

Ans 1.  III

2.  I

3.  IV

4.  II

Question ID : 65497843304

Status : Not Answered

Chosen Option : --

Q.21 नई माताओं मŐ, ˑनपान के शुŜआती िदनो ं मŐ ˑन से एक तरल पदाथŊ ŷािवत होता है, जो बǄे की
ŮितरƗा Ůणाली को मजबूत करता है और संŢमण से लड़ने सहायक होता है, वह तरल पदाथŊ Ɛा
कहलाता है?

Ans 1. सेबम (Sebum)

2. सेŜमेन (Cerumen)

3. कोलो Ōː म (Colostrum)

4. साइनोिवया (Synovia)

Question ID : 65497843707

Status : Answered

Chosen Option : 3

Q.22 2020 के सरˢती सʃान के िलए िनɻिलİखत मŐ से िकसे चुना गया था?
Ans 1. िकरण नागरकर

2. शरणकुमार िलंबाले

3. सिचन कुȽलकर

4. Ůकाश आमटे

Question ID : 65497842710

Status : Answered

Chosen Option : 2

Q.23 ______, ओिडशा मŐ Ůचिलत गाथागीत गायन का एक ŝप है।
Ans 1. कजरी

2. सोहर

3. दशकिथया

4. पोवाड़ा

Question ID : 65497843701

Status : Answered

Chosen Option : 3



Q.24 ______ , कमआय वाले लोगो ं की तुलना मŐ उǄआय वाले लोगो ं से आय का अिधक िहˣा एकũ करने
वाली एक कर Ůणाली है।

Ans 1. आरोही कर

2. पेरोल कर

3. Ůितगामी कर

4. आनुपाितक कर

Question ID : 65497843299

Status : Not Answered

Chosen Option : --

Q.25 1888 मŐ भारतीय रा Ō̓ ीय कांŤेस के िनɻिलİखत मŐ से िकस अिधवेशन मŐ जॉजŊ यूल अȯƗ बने थे?

Ans 1. बॉɾे

2. मūास

3. इलाहाबाद

4. कलकȅा

Question ID : 65497843715

Status : Answered

Chosen Option : 3

Q.1

Ans 1. 

2. 

3. 

4. 

Question ID : 65497842529

Status : Answered

Chosen Option : 1

Q.2

Ans 1. 

2. 

3. 

4. 

Question ID : 65497843734

Status : Answered

Chosen Option : 1

Section : Quantitative Aptitude



Q.3

Ans 1. 

2. 

3. 

4. 

Question ID : 65497843750

Status : Answered

Chosen Option : 4

Q.4

Ans 1. 

2. 

3. 

4. 

Question ID : 65497842738

Status : Answered

Chosen Option : 4



Q.5

Ans 1. 

2. 

3. 

4. 

Question ID : 65497843338

Status : Answered

Chosen Option : 1

Q.6

Ans 1. 

2. 

3. 

4. 

Question ID : 65497842220

Status : Answered

Chosen Option : 4

Q.7

Ans 1. 

2. 

3. 

4. 

Question ID : 65497843329

Status : Not Answered

Chosen Option : --

Q.8

Ans 1. 

2. 

3. 

4. 

Question ID : 65497843740

Status : Answered

Chosen Option : 4



Q.9

Ans
1. 

2. 

3. 

4. 

Question ID : 65497842718

Status : Answered

Chosen Option : 4

Q.10

Ans 1. 

2. 

3. 

4. 

Question ID : 65497842230

Status : Answered

Chosen Option : 1

Q.11

Ans 1. 

2. 

3. 

4. 

Question ID : 65497842217

Status : Answered

Chosen Option : 2



Q.12

Ans
1. 

2. 

3. 

4. 

Question ID : 65497842223

Status : Answered

Chosen Option : 2

Q.13

Ans 1. 

2. 

3. 

4. 

Question ID : 65497842514

Status : Answered

Chosen Option : 1

Q.14

Ans 1. 

2. 

3. 

4. 

Question ID : 65497843326

Status : Answered

Chosen Option : 1



Q.15

Ans
1. 

2. 

3. 

4. 

Question ID : 65497843335

Status : Not Answered

Chosen Option : --

Q.16

Ans 1. 

2. 

3. 

4. 

Question ID : 65497843340

Status : Answered

Chosen Option : 4

Q.17

Ans 1. 

2. 

3. 

4. 

Question ID : 65497843332

Status : Answered

Chosen Option : 1

Q.18

Ans 1. 

2. 

3. 

4. 

Question ID : 65497844651

Status : Answered

Chosen Option : 4



Q.19

Ans 1. 

2. 

3. 

4. 

Question ID : 65497842228

Status : Answered

Chosen Option : 1

Q.20

Ans 1. 

2. 

3. 

4. 

Question ID : 65497842736

Status : Answered

Chosen Option : 3

Q.21

Ans 1. 

2. 

3. 

4. 

Question ID : 65497842519

Status : Answered

Chosen Option : 1

Q.22

Ans 1. 

2. 

3. 

4. 

Question ID : 65497844649

Status : Answered

Chosen Option : 1



Q.23

Ans 1. 

2. 

3. 

4. 

Question ID : 65497842335

Status : Answered

Chosen Option : 2

Q.24

Ans 1. 

2. 

3. 

4. 

Question ID : 65497842717

Status : Answered

Chosen Option : 2



Q.25

Ans 1. 

2. 

3. 

4. 

Question ID : 65497843444

Status : Answered

Chosen Option : 1

Q.1 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

We have / not met / some of our friends / since six months.

Ans 1. not met

2. We have

3. since six months

4. some of our friends

Question ID : 65497843754

Status : Answered

Chosen Option : 3

Q.2 The following sentence has been split into segments. One of them may contain an
error. Identify the segment that contains a grammatical error. If you don’t find any
error, mark ‘No error’ as your answer.

How many / eggs were put / into the basket?

Ans 1. No error

2. eggs were put

3. into the basket

4. How many

Question ID : 65497842237

Status : Answered

Chosen Option : 1

Section : English Comprehension



Q.3 Given below are four sentences which are jumbled. Pick the option that gives their
correct order.

A. Schools are closed for the Christmas and winter break at this time of the year.
B. Christmas and New Year are the time of the year to celebrate.
C. All over the city, winter carnivals and Christmas bazaars lend fun and warmth in the
cold.
D. For the second time in a row, we are likely to see restrained celebrations for fear of
the pandemic raising its ugly head again.

Ans 1. BACD

2. BCDA

3. BADC

4. ABCD

Question ID : 65497842756

Status : Answered

Chosen Option : 2

Q.4 Select the option that can be used as a one-word substitute for the given group of
words.

The examination or observation of one's own mental and emotional processes

Ans 1. Inspection

2. Valuation

3. Introspection

4. Assessment

Question ID : 65497843772

Status : Answered

Chosen Option : 3

Q.5 Select the option that can be used as a one-word substitute for the given group of
words.

A medical condition in which somebody partly or completely loses their memory

Ans 1. Asphyxia

2. Anaemia

3. Amnesia

4. Alopecia

Question ID : 65497843369

Status : Answered

Chosen Option : 3

Q.6 Select the most appropriate synonym of the given word.

Urge

Ans 1. Refuse

2. Protest

3. Appeal

4. Reply

Question ID : 65497842757

Status : Answered

Chosen Option : 3



Q.7 Select the INCORRECTLY spelt word.

Ans 1. Stationery

2. Stratagy

3. Statutory

4. Stationary

Question ID : 65497843371

Status : Answered

Chosen Option : 2

Q.8 Select the most appropriate ANTONYM of the given word.

Linger

Ans 1. Annoy

2. Leave

3. Entertain

4. Choose

Question ID : 65497842557

Status : Not Answered

Chosen Option : --

Q.9 Select the option that will improve the underlined part of the given sentence. In case
no improvement is needed, select 'No improvement required'.

We might as well watch a film on TV as there’s nothing much to do.

Ans 1. No improvement required

2. may as well as

3. may as such

4. might well

Question ID : 65497842552

Status : Answered

Chosen Option : 2

Q.10 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

As it has been raining heavily / since two hours, / the children are / at home.

Ans 1. the children are

2. since two hours,

3. at home

4. As it has been raining heavily

Question ID : 65497843247

Status : Answered

Chosen Option : 2



Q.11 Select the most appropriate meaning of the given idiom.

Lie low

Ans 1. Try not to be noticed

2. Fly a plane at a low altitude

3. Lie down and relax after a tiring day

4. Sit on a low chair

Question ID : 65497842559

Status : Answered

Chosen Option : 1

Q.12 Select the most appropriate synonym of the given word.

Redundant

Ans 1. Superfluous

2. Ignorant

3. Essential

4. Arrogant

Question ID : 65497843364

Status : Answered

Chosen Option : 1

Q.13 Select the most appropriate meaning of the underlined idiom in the given sentence.

When I asked for an expensive dress for my friend’s wedding, my mother reminded me
that money does not grow on trees.

Ans 1. Money is hard earned and limited

2. Money grows on shrubs and there’s plenty

3. Money is like leaves of a tree and freely available

4. Money is freely available to spend

Question ID : 65497843770

Status : Answered

Chosen Option : 1

Q.14 Select the option that can be used as a one-word substitute for the given group of
words.

In exactly the same words as the original

Ans 1. Verbatim

2. Copy

3. Imitation

4. Duplicate

Question ID : 65497842259

Status : Answered

Chosen Option : 1



Q.15 Select the option that will improve the underlined part of the given sentence. In case
no improvement is needed, select 'No improvement required'.

He’s not so friendly like she is.

Ans 1. so friendly that

2. No improvement required

3. so friendly as

4. as friendly like

Question ID : 65497842755

Status : Answered

Chosen Option : 3

Q.16 Select the most appropriate option to fill in the blank.

This app is a very ______ one for online shopping.

Ans 1. convenience

2. competency

3. capable

4. convenient 

Question ID : 65497842261

Status : Answered

Chosen Option : 4

Q.17 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

The policeman asked / many people but / no one was knowing / how the accident
happened.

Ans 1. The policeman asked

2. many people but

3. how the accident happened

4. no one was knowing

Question ID : 65497843349

Status : Answered

Chosen Option : 4

Q.18 Select the correct active voice form of the given sentence.

All the inmates were rescued from the building by the firemen.

Ans 1. The firemen have been rescuing all the inmates from the building.

2. The firemen are rescuing all the inmates from the building.

3. The firemen rescued all the inmates from the building.

4. The firemen have rescued all the inmates from the building.

Question ID : 65497842745

Status : Answered

Chosen Option : 3



Q.19 Select the correct active voice form of the given sentence.

All the prize winning books have been displayed on the tables.

Ans 1. We have displayed all the prize winning books on the tables.

2. We have to display all the prize winning books on the tables.

3. We will be displaying all the prize winning books on the tables.

4. We are displaying all the prize winning books on the tables.

Question ID : 65497843352

Status : Answered

Chosen Option : 1

Q.20 Select the option that expresses the given sentence in reported speech.

The teacher said, “Asif, go and wash your hands.”

Ans 1. The teacher told to Asif to go and wash his hands. 

2. The teacher told Asif go and wash your hands. 

3. The teacher told Asif go and wash his hands. 

4. The teacher told Asif to go and wash his hands. 

Question ID : 65497843763

Status : Answered

Chosen Option : 4

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

New cycle routes have been built in and around the centre of Birmingham and speed limits
have been (1) ______ on selected roads. The scheme has now been in (2) ______ for a year
and has been hailed as a (3) ______ success. Since the new speed limits were (4) ______,
the number of accidents in the area have fallen (5) ______.

SubQuestion No : 21

Q.21 Select the most appropriate option to fill in blank no.1.

Ans 1. reduced 

2. scaled

3. lessened

4. shortened

Question ID : 65497842243

Status : Answered

Chosen Option : 1



Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

New cycle routes have been built in and around the centre of Birmingham and speed limits
have been (1) ______ on selected roads. The scheme has now been in (2) ______ for a year
and has been hailed as a (3) ______ success. Since the new speed limits were (4) ______,
the number of accidents in the area have fallen (5) ______.

SubQuestion No : 22

Q.22 Select the most appropriate option to fill in blank no.2.

Ans 1. operation

2. activity

3. process

4. agency

Question ID : 65497842244

Status : Answered

Chosen Option : 3

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

New cycle routes have been built in and around the centre of Birmingham and speed limits
have been (1) ______ on selected roads. The scheme has now been in (2) ______ for a year
and has been hailed as a (3) ______ success. Since the new speed limits were (4) ______,
the number of accidents in the area have fallen (5) ______.

SubQuestion No : 23

Q.23 Select the most appropriate option to fill in blank no.3.

Ans 1. great

2. more greater

3. greatest

4. greater

Question ID : 65497842245

Status : Answered

Chosen Option : 1

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

New cycle routes have been built in and around the centre of Birmingham and speed limits
have been (1) ______ on selected roads. The scheme has now been in (2) ______ for a year
and has been hailed as a (3) ______ success. Since the new speed limits were (4) ______,
the number of accidents in the area have fallen (5) ______.

SubQuestion No : 24

Q.24 Select the most appropriate option to fill in blank no.4.

Ans 1. dictated

2. enforced

3. exacted

4. compelled

Question ID : 65497842246

Status : Answered

Chosen Option : 2



Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

New cycle routes have been built in and around the centre of Birmingham and speed limits
have been (1) ______ on selected roads. The scheme has now been in (2) ______ for a year
and has been hailed as a (3) ______ success. Since the new speed limits were (4) ______,
the number of accidents in the area have fallen (5) ______.

SubQuestion No : 25

Q.25 Select the most appropriate option to fill in blank no.5.

Ans 1. extremely

2. drastically

3. desperately

4. terribly

Question ID : 65497842247

Status : Answered

Chosen Option : 2


